Bellwork Thursday, June 5, 2014

Do the following for each sequence:

a) Find the next three terms in each sequence.

b) Tell if the sequence is Arithmetic, Geometric, or Neither.
c) If Arithmetic or Geometric write both a Recursive and an Explict Formula.
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4. Find the missing terms in this Arithmetic Sequence.
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5. Find the missing terms in this Geometric Sequence.
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6. Find the 30th term of each sequence.
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7. Given these two terms of an Arithmetic Sequence find

the first term. @ a3 = 186
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8. Given these two terms of an Geometric Sequence find

the first term. a5 = 2.125,76 as = 516,560,652
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